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#include<stdio.h>

#include<stdlib.h>

int main(void)
{
Int class[3];
int *temp;
int i=0, j=0, k=0;
int number, score, total, avg;

for(i=0; i1<3; i++)
{
total=0;
avg=0;
scanf(“%d"”,&number);
temp=calloc(number,sizeof(int));

Y
for( j=0; j<number;j++)

{
scanf("%d" &score);
templj]=score;

}

for(k=0;k<number; k++)

{
}

avg=total/number;
class[i]=avg;
free(temp);

total+=templk];

|}orintf(”%d %d %d Wn" class[O],
class[1], class[2]);

return O;
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Int *temp;

int 1=0, j=0, k=0;

Int number, score, total, avg;
\_
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for(i=0; i<3; i++)
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scanf("%d", &number);

temp=calloc(numbersizeof(int)); J
. H SHAIAZ Ol3 HIO &

CEF A
=2 2, offE == 4t

= X SHEF
0 o

i — )
« Ex) number 7} 20' 74—,— t%-; 2
e

or( j=0; j<number;j++) A
{

scanf("%d" &score);

temp[j]=score;
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total+=temp[k];

avg=total/number;
class[i]=avg;

for(k=0;k<number; k++)
{
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{free(temp);
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* 1) Number: 2, Score: 70, 90 2) Number: 3, Score: 90, 100, 80

3) Number: 2, Score: 80, 85

temp

class
70 90 80
class
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80 90 80 90 85
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A& 2 Singly linked list

74& 712802 Xk EQ singly linked list?t Z+E &<~
append, insert, delete +23ofl & A| C.

ETLOJ A skeleton codeE HX| copy & paste StA|7| HEEFL|C},

data next data next data next data next
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5 #include <stdio.h>
6 #include <stdlib.h>
7
8 B typedef struct _ node{
9 int data;
10 struct _ node* next;
11 Fnode;
i
13 = typedef struct _ list{
14 node* head;
15 int cnt;
16 Flist;
17

18 void clear_list(list*);
19 void append_node(list¥*);
20 void insert_node(list*);
21 void delete_ node(list¥*);
22 void print_ _list(list*);
23 void reverse 1list();

24 void sort list();

node2te structE M 2St=H| O|= datall Lt =EE 7I2|7|&=

pointer H=7F A& LT},
list struct= linked list2| A|2FOl head2f listOff &IA7F & I
counter 4= 7| &g L C}.
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AlZ 2 main

26  int main(){

27 printf("\033[2J\033[H");

28 printf("\t**weekl® practice**\n");

29

30 list* L = (list*)malloc(sizeof(list));

31 if(!'L) printf("Failed to Init.\n");

32 L->head = NULL;

33 L->cnt = ©;

27 B2 F2 UIS ?Iol 258 S clear L
ist +Z2H| LS 42 = memoryS dynamic allocation gfL|LC}.
: H22[7F 7t M71'—f CHE 0 2{2 2138} allocation0f & THS|H

*'H}E = 3Lt

fprintf(stderr, “Failed to Init.#n");
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Al& 2 main
34 while(1){

35

36
37
38
39
40
41
42
43
44
45
46
47
48
49
50 }
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printf("a : append i insert d : delete\nr
reverse s : sort 8] print\ng : quit\n");
printf("Press key ")

char ¢ = getchar();

getchar(); // remove '\n'
printf("\©33[2J\©33[H"); //clear screen

switch(c){

case 'a' : append _node(L); break;

case '"i' : insert_node(L); break;
case 'd' : delete node(L); break;
case 'r' reverse_ list(L); break;
case 's' : sort_list(L); break;
case 'p' : print_list(L); break;
case 'gq' : clear_list(L); return ©;

default : printf("Invalid Key\n");
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A& 2 append
63 EHvoid append node(list* L){

64 node* N = (node*)malloc(sizeof(node));
65 B if(IN){

66 printf("Failed to create a node\n");
67 return;

68 }

69 int n;

70 printf("Data : ");

71 scanf("%d", &n);

72 getchar();

64 : {22 node N& 8¢ & N& 2|2t memoryE allocation & L|LCF.
= =]

allocationO| H&35}H datas Q= Hh&L|CH
O 2+ 20 2%1 2|1 ek},



A& 2 append

73 N->data = n;

74 N->next = L->head;

75 L->head = N;

/76 L->cnt++;

77 printf("\633[2J\033[H");

78 printf (" Append succeeded\n");

data et data et data et data et

73 28 B2 2 ME2 &5 N9 data 222 Y O{EFL|CH

7| M N2 (hode*) pointerO|7| 20| ->2Z &2 6l|&L|CF.

N-data N->data

MZ2 node N2| next= headE 7t2|7|11, head= Al 22 node N2
Zt2[Z L,



AlZ 2 delete

116 void delete node(list* L){

117 if(L->cnt == 0){

118 printf("Empty\n");

119 return;

120 }

121 int idx;

122 node* curr = L->head;

123 node* prev = NULL;

124 printf("Index(©~) : ");

125 scanf("%d", &idx);

126 getchar();

127 printf("\©33[23\033[H");

128 if(idx > L->cnt-1 || idx < ©){
129 printf("Invalid Index\n");
130 return;

131 }

117 : List2| element”t 00|2t™ AtA|et = E7t 17| IZ20f HFZ return
erL|Cf.

curr, prev pointer= node deleteE /o 2ot H4AL|CH

3 F indexdtO| valid HX| ZAtSEL|C},



el el i

Al
=

& 2 delete

2
2
N A

else if(idx == 0){
L->head = L->head->next;
free(curr);

}

|2/OF & node?| index?t 00|2t™H head”t Lt =EE 7t2|7| A
| =0 7I2|7|E nodeE X|2H ELL|CH

head head




AlZ 2 delete

Delete succeeded

curr;
curr->next;

curr->next;

136 else{
137 while(idx--){
138 prev =
139 curr =
140 }
141 prev->next =
142 free(curr);
143 }
144 L->cnt--;
145 printf("”
146 }
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HE 2 print
148 void print_list(list* L){

149 if(L->cnt == 0){

150 printf("Empty\n");
151 return;

152 }

153 node* t = L->head;
154 while(t){

155 printf("%d ", t->data);
156 t = t->next;

157 }

158 printf("“\n");

159 }

print_list &0 A{ = 2+2F counter”?t 00|2tH emptyE Z &1
OfL|2}H linked list= traverseol™ 4= == SfL|LC}.
O I} Tt ES L->headE 2 M =4 OfL|2} FA|HSE O| 25|

traverse=S ol= 4 L|LC}.
head 4f0| HHE == 7| & L|LC}.



Al 2 clear

54 =void clear list(list* L){

= Ot allocation

[=2to
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AE AtES= CF Brekol s ofF

|Z=£ garbage collectionO| 817

55 B while(L->head){

56 node* tmp = L->head;
57 L->head = L->head->next;
58 free(tmp);

59 }

60 free(L);

61 }
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N (Tt E : hw.c)
=X,

=Y A[ZHO|| A& St skeleton codell
reverse_list() //hwi
sort_list() //hw?2

2SS 7o .

reverse list &+= list0]| U= nodeSQ| =ME Y+=O =2 HiEL|LCH
before after
12345 54321

sort_list &+ nodeE 2LEAI+SZE JHTL|CL
07| M sorting2 OFFAHLE AN R | Ct. (bubble, merge.. etc)

before after
32451 12345



